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® TABLEOFTWO @
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WRITE LIKE THIS

W READLIKETHIS @

2 ones are 2 2 X 1 = 2
2 twos are 4 2 X 2 = 4
2 threes are 6 2 X 3 = 6
2 fours are 8 2 X 4 8
2 fives are 10 2 X 5 = 10
2 sixes are 12 2 X 6 = 12
2 sevens are 14 2 X 7 = 14
2 eights are 16 2 X 8 = 16
2 nines are 18 2 X 9 = 18
2 tens are 20 2 x 10 = 20
A;;\'c‘iyity

Match with the correct answer.
A

2x0 @
[2x4 &
[2x2 @
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A. Tick(v)thecorrectnumbers:

2x6=12 2x4=9 2x9=18
2x8=12 2x3=6 2x5=5

2x9=18 2x2=12
2x6=1 2x8=16

B. Matchthe correct multiplication numerals withtheanswer:

10
2X4 \
8

2x8
2x6 16
2x2 12
2x5 4
(@) Table Book \
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® TABLE OF THREE ¢

q THREE BIRDS
INTHE SKY. g
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READ LIKETHIS @

WRITE LIKE THIS

3 ones are 3 3 X 1 = 3
3 twos are 6 3 X 2 = 6
3 threes are 9 3 x 3 = 9
3 fours are 12 3 x 4 = 12
3 fives are 15 3 X 5 = 15
3 sixes are 18 3 X 6 = 18
3 sevens are 21 3 X 7 = 21
3 eights are 24 3 x 8 = 24
3 nines are 27 3 X 9 = 27
3 tens are 30 3 x 10 = 30
A;;\'c‘iyity
Match with the correct answer: @
3X9j 3x64:9,/ @
3x4 ©
3,(24\"?/ 3x84:9,/ @
—
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A. Fillinthebookswithcorrectnumbers:

3 Twos 3 Sevens

B. Matchthecorrectnumberswiththeanswer:

3 x7 24

3x6 6
3 x4 18

3 x 2 21
3 x8 12

@ Table Book

IIIII||III|IIII|I|II|IIIIIIIIIIIIIIlIIIlIII|I|IIII|IIII|IIII|IIIIIIIII|IIII|IIIlIlIIIIIIIIlIIIIlIIII|IIII|IIII|IIII\ \
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 23 \ \X/




=

® TABLE OF FOUR @

4

W READLIKETHIS 9 WRITE LIKE THIS

4 ones are 4 4 x 1 = 4
4 twos are 8 4 x 2 = 8
4 threes are 12 4 x 3 = 12
4 fours are 16 4 x 4 = 16
4 fives are 20 4 x 5 = 20
4 sixes are 24 4 x 6 = 24
4 sevens are 28 4 x 7 = 28
4 eights are 32 4 x 8 = 32
4 nines are 36 4 x 9 = 36
4 tens are 40 4 x 10 = 40

Actw¢g_

(m Write the correct answer: (m Fill in the blanks:
4 4 = Four fives are =
4 x 5 = Four ones are =
4 x 7 = . Four sixes are =
4 x 8 = Four twos are =
4 x 2 = \Foursevensare =

-

. Table Book
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® TABLEOFFIVE ¢

FIVE SWEET
ORANGES

~)
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5
5
5
5
5
5
5
5
5
5

L
Activit

Match with the correct answer:

ones
twos
threes
fours
fives
sixes
sevens
eights
nines
tens

are
are
are
are
are
are
are
are
are
are

W READLIKETHIS @9

5
10
15
20
25
30
35
40
45
50

Ui o1 U1 U1 U1 U1 U1 U1 U1

WRITE LIKE THIS

X X X X X X X X X X

RN
o

10
15
20
25
30
35
40
45
50

=& 6E 6 =) @
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A. Matchthecorrect multiplication numerals with theiranswers:

5x6 40
5x 4 10
5x 3 30
5x 2 20
5x 8 15

B. Fillintheboxes:

5 fours are 5 fives are
- -
5 ones are : 5 tens are
5 sixes are 5 twos are
R

Table Book
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® TABLEOFSIX @

|
PEACOCKS o
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W’ READLIKETHIS 9 WRITE LIKE THIS
6 ones are 6 6 X 1 = 6
6 twos are 12 6 x 2 = 12
6 threes are 18 6 x 3 = 18
6 fours are 24 6 x 4 = 24
6 fives are 30 6 x 5 = 30
6 sixes are 36 6 x 6 = 36
6 sevens are 42 6 7 = 42
6 eights are 48 6 x 8 = 48
6 nines are 54 6 x 9 = 54
6 tens are 60 6 x 10 = 60

Actw¢g_

/ﬂ Write the correct answer: f! Fill in the blanks:
6 x 2 = Six sixes are =
6 x 8 = Six twos are =
6 x 5 = . Six sevens are =
6 x 4 = Six tens are =
L 6 x 9 = ) \SIX ones are = >

. Table Book @
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A. Fillinthe missing numbers:

6 x = 18 6 x 1 = ]
6 x 5 = J x 5 = 30
x 6 = 36 6 x 2 =

B. Match the correct multiplication numerals with the answer. One has
been done for you:

@ Table Book
IIIII||IIIIIII||I|II|I|II|III||IIII|IIIIIIIIIIIIII|IIIIIIIII|I|IIIIIII|IIII|II|l||IIIIIIII|IIII|IIIIlIIIIlIIIIlIIII\
\x

1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 23 /




=

® TABLE OF SEVEN @

SEVEN
BUTTERFLIES .

W READLIKETHIS 9 WRITE LIKE THIS

7 ones are 7 7 x 1 = 7
7 twos are 14 7 X 2 = 14
7 threes are 21 7 x 3 = 21
7 fours are 28 7 x 4 = 28
7 fives are 35 7 x 5 = 35
7 sixes are 42 7 x 6 = 42
7 sevens are 49 7 x 7 = 49
7 eights are 56 7 x 8 = 56
7 nines are 63 7 x 9 = 63
7 tens are 70 7 x 10 = 70

Aetwdg_

(w Write the correct answer: (m Fill in the blanks:
7 x 4 = - Seven sixes are =
7 x 2 = - Seven twos are =
7 x 8 = Seven nines are =
7 x 2 = Seven fives are =
7 x 6 = Seven sevens are =

- S J - J

. Table Book @
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A. Completethe multiplication wheels:

B. Fillintheboxeswithcorrectnumbers:

7 twos are 7 fives are
7 eights are 7 sevens are
7tensare 7 onesare

Table Book
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® TABLE OF EIGHT €

EIGHT RABBITS
ON THE GROUND __

W READLIKETHIS W WRITE LIKE THIS

8 ones are 8 8 x 1 = 8
8 +twos are 16 8 X 2 = 16
8 threes are 24 8 x 3 = 24
8 fours are 32 8 x 4 = 32
8 fives are 40 8 x 5 = 40
8 sixes are 48 8 x 6 = 48
8 sevens are 56 8 x 7 = 56
8 eights are 64 8 x 8 = 64
8 nines are 72 8 x 9 = 72
8 tens are 80 8 x 10 = 80

Aetwdg_

(W Write the correct answer: (W Fillin the blanks:
8 3 = Eight nines are =
8 x 5 = . Eight ones are =
8 x 7 = Eight sevenare =
8 x 6 = Eight fours are =
L 8 x 4 = ) \Elght sixes are = >

2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23

. Table Book @
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A. Match the correct multiplication numerals with answers. One

hasbeendoneforyou:
8x3 L 24
s 2
40
8 x7
32
8x9
56
8 x4
B. Fillanswersintheboxes:
8 x 2= 8 x 5=
8 x 4=
8 x 9= 8 x 6=
Table Book
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® TABLEOFNINE @

QO &

W READLIKETHIS W WRITE LIKE THIS

9 ones are 9 9 X 1 = 9
9 twos are 18 9 x 2 = 18
9 threes are 27 9 x 3 = 27
9 fours are 36 9 x 4 = 36
9 fives are 45 9 x 5 = 45
9 sixes are 54 9 X 6 = 54
9 sevens are 63 9 X 7 = 63
9 eights are 72 9 x 8 = 72
9 nines are 81 9 X 9 = 81
9 tens are 90 9 x 10 = 90

Actwdg_

(m Write the correct answer: (m Fill in the blanks:
9 x 6 = Nine fives are =
9 3 = Nine sixes are =
9 x 5 = Nine fives are =
9 x 10= Nine threes are =
9 x 7 = \Nine sevens are =

.

. Table Book
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Fillanswersinthe boxes:

9><2=[]

9x3=

9x10=

Fillinthe boxes with correct numbers:

9 ones are

9 nines are

1 12 13 14 15

9 fours are

9 sixes are

Table Book
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® TABLEOFTEN @

TEN HENS
ONTHEGROUND _~

W READLIKETHIS @ WRITE LIKE THIS

10 ones are 10 10 x 1 = 10
10 twos are 20 10 x 2 = 20
10 threes are 30 10 x 3 = 30
10 fours are 40 10 x 4 = 40
10 fives are 50 10 x 5 = 50
10 sixes are 60 10 x 6 = 60
10 sevens are 70 10 x 7 = 70
10 eights are 80 10 x 8 = 80
10 nines are 90 10 x 9 = 90
10 tens are 100 10 x 10 = 100

Actwdg_

[!I Write the correct answer: (!I Fill in the blanks:
10 x 8 = ﬁ Ten sixes are =
10 x 3 = o Ten fives are =
10 x 5 = ¥ Ten twos are =
10 x 3 = Ten sixes are =
S 10 x 6 = - ) \Tenthreesare = )

f Table Book
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10 x = 30

10 x = 60
lr:—'o—'c—'c—'”’ g et g et g et b g
10 XU = 80

¢

|

’.'—‘o—'f_‘o—‘ ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ P——

ilo XUZ 20

10 x = [ 10
SIS S— .
10 XU = 90

= |70

")

|>,_.,_.,_.,,.,..,,,_.,..,_.,,_.,.,_.,..,.,_.,_

40

Count by 10 up to 100 and write the number in the blank given below:

10 x 1 =
10 x 2 =
10 x 3 =
10 x 4 =

10 x 5 =

eeaaad

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||\
21

1 2 3 4 5 6 7 8 9

10 x6="1
10 x7="1 )
10 x 8= )
10x9="1 )

10 x 10=Q

1 12 13 14 15

17 18 19 20

22

Table Book
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® TABLE OF ELEVEN @ ® TABLE OF TWELVE @
m x 1 = 11 12 x 1 = 12
1M x 2 = 22 12 x 2 = 24
M x 3 = 33 12 x 3 = 36
11 x 4 = 44 12 x 4 = 48
M x 5 = 55 12 x 5 = 60
1M x 6 = 66 12 x 6 = 72
1M1 x 7 = 77 12 x 7 = 84
1M x 8 = 88 12 x 8 = 96
"m x 9 = 99 12 x 9 = 108
11 x10 = 110 12 x 10 = 120
N 0000000000000

.\

Fill answers in the boxes:
11 x 3 = 12x 9 = 11 x 7 =

12x 2 = 12 x5 = 11 x10=

/ Table Book 21)
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A. Matchthecorrectanswers.Onehasbeendoneforyou:

12x5| 11x1|

B. Writethetableof11indescendingorderonthecaterpillar:

QQQQQQ@QQ@

@ Table Book
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® TABLE OF THIRTEEN @ ® TABLE OF FOURTEEN @
13 X 1 = 13 14 X 1 = 14
13 X 2 = 26 14 X 2 = 28
13 X 3 = 39 14 X 3 = 42
13 X 4 = 52 14 X 4 = 56
13 X 5= 65 14X 5 = 70
13 X 6 = 78 14X 6 = 84
13 X 7= 91 14 X 7 = 98
13 X 8 =104 14 X 8 =112
13 X 9 =117 14 X 9 =126
13 X 10 = 130 14 X 10 = 140

Fill answers in the boxes:

14 x 2 = 13 x 5 = 14 x 3 =

13 x 4 = 13 x 8 = 13 x10=

. Table Book @
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® TABLE OF FIFTEEN @ ® TABLE OF SIXTEEN @

16 1 = 16
16
16
16

16

16

16

16

16

16

N o s i _".“""“”

Fill answers in the boxes:
15 x 3 = 15 x 7 = 16 x 8 =

16 x 6 = 16 x 2 = 15 x10=

Table Book
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A. The cat wants to drink milk. Colour in all the numbers from the
fifteen times table to find the path through the maze:

w Y
N 2 @ = PRI 5
1 75 52 15 4y IS

®n

=) Y Y Y
G . 290 . 108, 90 .
@; 80 , 47 , 20 , 75 .
G0 , 88 ., GO . 41 , 320
@; 50 , 120, $6 , 120 .
g2 . 18 , 18 . 48 , 40
@; 27 . $2 , 120, 29 .
75 . 45 ., 75 . 84 . (5
@}3@;5@;63; @7
o0 , 75 108, 90 .
@;@@; 15 | 185
W7 . GO 17
80 , 45

150 _,
e

B. Fillintheboxes:

16 x 5 = 16 x 9 = 16 x 2 =

16 x 4 = 16 x 10= 16 x 3 =

. Table Book @
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® TABLE OF SEVENTEEN @

17
17
17
17
17
17
17
17
17
17

X X X X X X X X X X

O 0 N OO0 01 o W N B

=t
o

17 x 1 =

17 x 3 =

34
51
68
85

102

119

136

153

170

17

Fill answers in the boxes:

17 x5 =

18 x 4 =

® TABLE OF EIGHTEEN @
18 X 1 = 18
18 X 2 = 36
18 X 3 = 54
18 X 4 = 72
18 X 5 = 90
18 X 6 = 108
18 X 7 = 126
18 X 8 = 144
18 X 9 = 162
18 X 10 = 180

000000000090

II|IIII|IIII|IIII|IIII
19 20 21 22 23 N

Table Book \
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® TABLE OF NINETEEN @ ® TABLE OF TWENTY @
19 x 1 = 19 20 x 1 = 20
19 x 2 = 38 20 x 2 = 40
19 x 3 = 57 20 x 3 = 60
19 x 4 = 76 20 x 4 = 80
19 x 5 = 95 20 x 5 = 100
19 x 6 = 114 20 x 6 = 120
19 x 7 = 133 20 x 7 = 140
19 x 8 = 152 20 x 8 = 160
19 x 9 = 171 20 x 9 = 180
19 x 10 = 190 20 x 10 = 200
R C060660660606066066

Fill answers in the boxes:

19 X 3 20 X 9 19 X 7
20 X 2 19 X 9 20 X 10

f Table Book (27)
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A. Writethemissingnumberinthefollowing:

x 10 = 80 14 x 7 = 17 x = 68
x 4 = 64 18 x 5 = 15 x = 135
B. Multiplythefollowing:
8
X 8
G [ ] & b\
3
C. Matchthefacts:
I < 5 I e < 4
18 x 6 i 20 x 8
14 x 7 @I 2. < 10
Table Book
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b TABLE FROM TWENTY ONE TO FORTY ﬁ

21 22 23 24 25 26 27 28 29 30
42 44 46 48 50 52 54 56 58 60
63 66 69 72 75 78 81 84 87 90
84 88 92 96 100 104 108 112 116 120
105 110 115 120 125 130 135 140 145 150
126 132 138 144 150 156 162 168 174 180
147 154 161 168 175 182 189 196 203 210
168 176 184 192 200 208 216 224 232 240
189 198 207 216 225 234 243 252 261 270
210 220 230 240 250 260 270 280 290 300
31 32 33 34 35 36 37 38 39 40
62 64 66 68 70 72 74 76 78 80
93 96 99 102 105 108 111 114 117 120
124 128 132 136 140 144 148 152 156 160
155 160 165 170 175 180 185 190 195 200
186 192 198 204 210 216 222 228 234 240
217 224 231 238 245 252 259 266 273 280
248 256 264 272 280 288 296 304 312 320
279 288 297 306 315 324 333 342 351 360
310 320 330 340 350 360 370 380 390 400

Table Book
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Place Value Chart

iR

1

P

2

One

Ten

One Hundred

One Thousand

Ten Thousand

One Lakh

Ten Lakh

One Crore

Ten Crore

One Arab

Ten Arab

One Kharab

Ten Kharab

1

10
100
1,000

/10,000

/1,00,000

/10,00,000

/1,00,00,000

/10,00,00,000

/1,00,00,00,000

/10,00,00,00,000

/' 1,00,00,00,00,000

/10,00,00,00,00,000

International
One
Ten 10
One Hundred 100
One Thousand 1,000
Ten Thousand /10,000
Hundred Thousand 100,000
One Million /1,000,000
Ten Million 10,000,000
Hundred Million 100,000,000
One Billion / 1,000,000,000
Ten Billion /10,000,000,000
Hundred Billion 100,000,000,000
One Trillion /1,000,000,000,000

3 4 5 6 7 8

9 10 1 12 13 14 15 16

17 18

19

20 21

Table Boo
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The Number System

Any number which is divisible by
two is known as an ‘even number’.
Given below are even numbers from

1to 100.

2,4,6,8,10,12, 14, 16, 18,
20, 22, 24, 26, 28, 30, 32, 34,
36, 38,40,42,44,46, 48, 50,
52,54, 56, 58, 60, 62, 64, 66,
68,70,72,74,76,78, 80, 82,

84, 86. 88. 90, 92, 94, 96, 98
and 100. Odd Numbers

Odd numbers are those which are
not divisible by two. Given below are
odd number form 1 to 100.

1,3,5,7,9,11, 13, 15, 17,
19,21, 23, 25,27, 29, 31, 33,
35,37,39,41,43,45,47, 49,
51, 53, 55, 57,59, 61, 63, 65,
67,69,71,73,75,77,79, 81,
® 83, 85, 87, 89,91, 93, 95, 97

and 99.

Prime numbers are numbers which
are only divisible by itself or by one.
Given below are prime numbers from

1to0 100. *

3,5,7,11, 13,17, 19, 23, 29, 31,
37,41, 43,47, 53, 59, 61, 67, 71,
73,79, 83,89,97.

j‘ Table Book @
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h MEASUREMENT AND CONVERSION ﬂ

MEASURES OF DIFFERENT LENGTH

1 Inch = 2.54 Cm.

12 Inches = 1 Foot (ft.)

144 Sq. Inches = 1 Sq. foot (ft.)

39.37 Inches = 1 Metre

3 Feet = 1 Yard (yd.)

1.09 Yards = 1 Metre

50 = 1 Pole (p.)

220 Yards or = 40 Poles = 1 Furlong

8 Furlongs or 1760 Yards = 1 Mile

100 sq. Decametres = 1 Hectare

0.40 Hectare = 1 Acre

1 Kilometer = 0.6213 Mile

1 Mile = 1.609 Kms.

5 Miles = 8 Kms. (near about)
DIFFERENT MEASURES

1 Grain = .0648 Gram.

1 Drain = 1.772 Grams

1 Ounce (0z) = 28.35 Grams

1 Foot = .3048 Metre

1 Yard = 9144 Metre

1 Nautical mile = 1.8533 Kilometers

20 Pieces (units) = 1 score

12 Piece (Units) = 1 Dozen

12 Dozen = 1 Gross

12 Gross (1728 units) = 1 Great Gross

1 Inch = 2.54 cm.

1 Gallon (American Winchester) = 3.785 Litres

1 Gallon (British Imperial 277.42 cu. inches) = 4.546 litres.

To convert centigrade into Fahernheit : multiply by 9, divide by 5, and add 32

To convert Fahrenhiet into Centigrade : subtract 32, multiply by 5, divide by 9

@ Table Book .
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® MEASURES @

P Length Measures q

10 Millimetres (mm)
10 Centimetres (cm)
10 Decimetres (dm)
10 Metres (m)

10 Decametres (dam)
10 Hectometres (hm)

1 Centimetre

1 Decimetre

1 Metre

1 Decametre

1 Hectometre

I Kilometre (km)J

pobbbbbbbbbbbbbbbbbbbbbbbbbbbbbh

LA LN RN AR AR RRARN LARRN RS AR EARRNARARNRARRARARN LN
cm4 2 3 4 5 6 7 8 9 10 11 12 13 14

inch. 1 2 3 4 5 6

SRR AN FN N FET T FE N PCAPACITYMeasures q

10 Millilitres (ml) = 1 Centilitre

10 Centilitres (c1) = 1 Decilitre

10 Decilitres (dI) = 1 Litre

10 Litres (1) = 1 Decalitre

10 Decalitres (dal) = 1 Hectolitre  :
P WEIGHTS Measures q 10 Hectolitres (h]) = 1 Kilolitre (k1) :

10 gm 20 gm 50 gm 100 gm 200 gm 500 gm

10kg 20kg

% =) (&S

1 kg 2 kg 5 kg 10 kg 20 kg
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Weight Measures

10 milligrams (mg) = 1 centigram
10 centigrams (cg) 1 decigram
10 decigrams (dg) = 1 gram
- 10 grams (g) = 1 decagram
10 decagrams (dag) = 1 hectogram
10 hectograms (hg) = 1 kilogram (kg)
10 kilograms (kg) = 1 myriagram

Area Measures

100 square millimetres (sq. mm)
100 square centimetres (sq. cm)
100 square decimetres (sq. dm)

1 square centimetre
1 square decimetre
I square metre

v 100 square metres (sq. m) = 1 square decametre
- 100 square decametres (sq. dam) = 1 hectare or 1 sq hectometre
100 hectares = 1 square kilometre
8 harky corns = 1 Inch (in)
12 inches = 1 foot
Volume Measures .
1,000 cubic millimeters (cu. mm) = 1 cubic centimeter /
1,000 cubic centimeters (cu. cm) = 1 cubic decimeter
1,000 cubic decimeters (cu. dm) = 1 cubic meter
1,000 cubic meters (cu. m) = 1 cubic decameter
Meaning of prefixes
kilo 1,000 times
myria 10,000 times
deci 10th part of Number Measures
centi 100th part of «%s 1  Unit = 1
. T 2 Units = 1 Pair
milli 1,000th part of =@ 12 Units = 1 Dozen
é 12 Dozens = 1 Gross
20  Units = 1 Score
— 5 Scores = 1 Hundred
~— \ 144 Units = 12 Dozen )
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60 Seconds = 1  Minute
60 Minutes = 1 Hour
24 Hours = 1 Day
7 Days = 1 Week
2 Weeks = 1  Fortnight
4 Weeks = 1 Month
12 Months = 1  Year
365 Days = 1 Year
366  Days = 1 Leapyear
10 Years = 1 Decade
100  Years = 1 Century
1000 Years = 1  Millennium
Jubilee Celebrations
1 Year = Anniversary 60 Years = Diamond Jubilee
10 Years = Decade 75 Years = Platinum Jubilee
25 Years = Silver Jubilee 100 Years = Century
50 Years = Golden Jubilee 1000 Years = Millennium
PRACTICE
1 minute = seconds.%
lhour =  ..........minutes.
1 day = ihours.
*.r  lweek = ......days
_ s
- 1 year N months.
1century = years
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